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ElE| #= F—L% K Bl 24L kvFZE | km/h
1 [EM-53 [E 9 CULNBEREE | KFT 88 BXE F 58 [4:02:28.204 [00:00.000 [39.47
2 [EM-58 |[TEAM ZERO XE BE/NMY ELE BHEF ﬁff 57 14:03:17.891 [1Laps 38.66
3 |[EM-67 |BecomeWind 23 F=AIAIEL NA K K] & 57 [4:03:18.413 [1Laps 38.65
4 |EM-56 |#kxE&%8C B0 NKESZERSE BF 56 |4:02:05.714 [2Laps 38.17
5 [EM—54 [(bUJ77F)— |2 T RF.BD EE, %EY X 56 |4:02:06.837 [2Laps 38.16
6 |EM—69 |ACCEL#&H 24 FHEEMA BEEEH G FE mK 56 |4:02:13.448 [2Laps 38.15
7 |EM-65 [Fit FELAE [ME mESE ﬁﬁ% find M F Bk 56 |4:03:20.911 [2Laps 37.97
8 [EM-66 |#2& U +»100% |{FiE sh3x, 4 A F18A #8ik ﬁse;‘f%v A= 55 14:03:10.894 [3Laps 37.32
9 |[EM-61 |F—LE~R EM Fs /ML E—A+E BESEH BE | 55 [4:.03:24.590 |3Laps 37.28
10 [EM-51 [V /AL— 05 |[BEA kKB 2R £ 55 [4:04:27.690 |3Laps 37.12
11 |[EM-57 [#tE&#D S H RS a1E F A B 53 [4:01:20.888 [5Laps 36.23
12 [EM-55 |[TXvT 7A4tO| AR 48 T 7R #F 51 [4:02:10.189 [7Laps 34.75
13 [EM-62 [Liberta Z HMEEEHE RSB RITER EX 51 [4:02:11.611 [7Laps 34.74
14 [EM-60 [Nitto CC-D AR EH TR SHE— ,.aEﬂ M 48 [4:02:08.814 |10Laps  |32.71
15 [EM-59 |NITTO-C = HEE SR FTHAEAFT A 47 14:01:55.319 |11Laps [32.06
16 |[EM—68 |ACCEL ZF&f |hnEk E%’?% TE E2FHE REMK £HE 47 [4:03:16.519 [11Laps [31.88
17 [EM-64 | F—LYAMAKEN |IUK BE FE BASE FE SR £ 45 [4:05:04.754 |13Laps [30.30
18 |EM-52 |Con=Pedale AE BERK BEE 44 [4:03:13.450 |[14Laps  [29.85




